GORILLA SPORT

Adjustable Squat Rack (100574)

\




PRORILLA oPORTS

Washer: (910) Hex Nut: (M10)
N
CRe
N/
12x 6x

Hex Bolt: (M10%65)

il

6x

Spanner

>©im O




SHRORILLA SPORTS

o o o o © © o ©

A

A

|
/‘
/

63-93
[/
7/
/
103-163

Shelves adjustable from 63cm to 93cm

Squat rack height adjustable from 103cm to 163cm
Width adjustable from 72.5cm to 115cm

Maximum load: Rack: 300KG Storage: 280KG Dip handles: 160KG




A

Hex Bolt (M10%65)—3PCS

©

Washer (#10) —6PCS

Y\
<@>
N7

Hex Nut (M10)—-3PCS

|

[
St




(I

SPCS

A

Hex Bolt (M10%65)

Washer (#10) —6PCS

Hex Nut (M10)-3PCS










